Тест для 2 класса, УМК  Rainbow English 2
I. Исключите ненужное слово каждого ряда
A) an apple; a cabbage; an apricot; a banana; an orange; a pear.
B) a potato; a tomato; a carrot; a pear; an onion; a cabbage.
Выберите нужный цвет для ответа на вопрос.
II. What color is an apricot?
    1. purple;    2. green;   3. yellow;
What color is an apple?
    1. black;     2. brown;   3. red;
What color is a tomato?
    1. green;    2. grey;      3. white.
III. [bookmark: _GoBack]Выберите и вставьте подходящее по смыслу слово.
He is from Northern Ireland. He is …
     1. English;      2. Irish;      3. Russian.
She is from Wales. She is …
     1. Scottish;   2. Russian;    3. Welsh.
He is from Scotland. He is …
     1. Scottish;   2. English;     3. Irish.
She is from England. She is …
     1. Russian;     2. English;      3. Scottish.

